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QUESTION 1

Review the following diagram:

aztucts
: = Shucth
| Eg defaults attributel : SAMPLE_INT
Eg gdefaults attnbute? ;: SAMPLE_IMT
Eg gdefaults attnbuted - SAMPLE_STRIMG
| I edefavity strbuted L FAMPLE INT.

I
- attributed 1

gaszignables
assignable2

- attributes 1

gstiuchs
= StructB
| Eg sdefaults attribute? : SAMPLE_INT
Eg edefaults attibute? - SAMPLE _INT
Eg edefaults: attnbuted : SAMPLE_STRIMG
[ gdefaults attnbuted : SAMPLE_STRING

After a build generated, which of the following assign methods is generated on StructA?

A. public StructA assign(StructB structB){ structA.attributel = structB.attributel; structA.attribute2 = structB.attribute2;
structA.attribute3 = structB.attribute3; structA.attribute4 = structB.attribute4; }

B. public StructA assign(StructB structB){ structA.attribute4 = structB.attribute5; }
C. public StructA assign(StructB structB){ structA.attributel = structB.attributel;
structA.attribute2 = structB.attribute?2;

structA.attribute3 = structB.attribute3;

}

D. public StructA assign(StructB structB){ structA.attributel = structB.attributel; structA.attribute2 = structB.attribute2;
structA.attribute3 = structB.attribute3; structA.attribute4 = structB.attribute5; }

Correct Answer: D

QUESTION 2
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Which two of the following statements about VIM files are true? [Select 2]
A. They contain common fragments of UIM pages for reuse

B. They require corresponding properties files

C. They can contain any of the UIM elements supported by a UIM file

D. They must contain a PAGE_ID element

Correct Answer: AB

QUESTION 3

Which of the following entity method stereotypes require SQL to be provided?
A. nsread

B. ns

C. nsmulti

D. batch

E. nsmodify

Correct Answer: BC

QUESTION 4

Which of the following statements about SQL host variables in Clram are true? Which of the following statements about
SQL host variables in Ciram are true?

A. All parameter host variables must be included in the argument struct.

B. All host variables must be prefixed by a colon.

C. All return host variables must be included in the return struct.

D. Host variables are not case sensitive.

E. In custom entity SQL, each host variable should consist of the data type plus variable name.

Correct Answer: ABC

QUESTION 5
Which of the following statements about the extension class EntityExtension that extends the entity class Entity is true?

A. The generator produces a new Java class curam.struct.EntityExtensionDtls containing any new or overridden
attributes, as well as the attributes remaining from curam.struct.EntityDtls.
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B. The generator produces a new Java class curam.struct.EntityExtensionDtls containing any new or overridden
attributes.

C. The generator produces no new Java classes, but replaces curam.struct.EntityDtls with a new version containing the
new or overridden attributes, as well as any others remaining from the original Entity.

D. The generator produces a new curam.intf.EntityExtension class containing the method signatures of curam.intf.Entity,
as well as any new or overridden methods.

Correct Answer: C
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